R2 B HEIRRARER (SA A2 FIABET 7y —MAERR

Bf7: A
1. HE=ITDO2WNTHZ TLESLY,
N Bif 2% e
A 77 2 2
Jn 207% K it 20X 30K 40518 501 60i%+t | 708 LLE
i 0 0 0 7 24 38 32
L miEhA | EEHMA | EfFHA Z Nk
53 22 26 0
. BRAE | 2ot | BEE
REBEFE 98 0 3
e | SEAOT [#EMSFIA]  EEZE
FI IR R 5 36 5
N F£1m F20m F3ELLE A EES
FIFE 9 28 62 3
- B | oAAt5—] Chobhy |EOE
FIATFT;
Fr ik 71 13 17 1
AR RS SEEE ~128F| 12~130F 13~158F [15~178F15%)

24 5 32 46|(E A )

2. EHEE(COLVTHAILLET,

o R FIFEE | POFE ik
SHHEE 17 79 5 0
e R FIFEE | POFE s
BRI 18 72 11 0

— R FEHE [ vOFE i
BROTIREE 17 62 22 0
N 1 FEHE [ vOFE i
RENK 19 72 10 0

3. BEERM. FIAMEIZONT

BRAEHARA D =R e B RS
TR 8 93 0 0
DELL EELCTELLY o 0] 2
wxmpe L2 =5 T G
EE 80 Gl 0
1 20
" ZL PR =R 4 [o] &5
Amse 4 85 12 0
4. EEEEEFEIZDONT
. Eiol- | Bhohily | Biof- | hhohl | BEE
> L
Y 0 0 0 0 101

5. TDMCERPIEE




